I B3 #H =

AERE - RE

(ED—) #E BRI E (PERHE — O Fn 2 AR (HAT : 1)
% A x t
2 H & # H & F
RS A AR R O 5 R F L 47, 396| #EE PRSP 75,571
A 1 % 41, 688
A OB I ¢ 287
RIS 0
K I e % N A i = 29
KEBRIRE 0
£ B i X 9,263 fikHEREIEE 6, 607
B - X AB 9,263 Eﬁnxl_ # 26, 960
FRIEER « FRAR < W e i
W B % PRSP By 0
Z DO h RIS ERBERE A - R
PRI A
[ S A% I it i Ml R ) S 5 AR
| z D i
o
Z D fih 2B BTR AEER B 5
ff X & f % & 1,876 4 &
R HE AR
ff S X & SKEMIA 0
=B 1,876 T A
YN IS T
ik & B 11, 745 EELHE T
T A
& i B 12,953 F T
5 W 12, 953
SN Z O
Z O i T A
T
VRIS I R A i %
BEHEW) LVEE fi 5%
— T~ DR 0
PHE TS B 5 R Tt %
PRV JELE i
Ha e 7K &




(HA7 - TH)

t

&

1%)]?]{

&

#H

+

W

< Ol

5O R
Ak i T
LR
LT SR
T B

[ i 5 H 4
R ) i
KERIAAES

BB RS T ) &
z O fth

W (i BT, A 4
A AT

B e = C R

WEIE R B AR 4
z O Al

S PETEHAN

< O il

— R E D DR

& it

11, 559

196
196

29
29

27, 950

75,571

o>

5]

75,571




